Fill in the boxes.

6 eggs
4 are eaten eggs left.

... OO0.0

3 red counters 5 yellow counters counters altogether.

7 trees
2 are cut down trees left.

o

Vicky has 20p. | 7 days in one week.
She spends 15p. | days in two weeks.
She has p left.
__.__________I______________
16 pencils in a box. | 11 chairs in one row.
5 are sharp. 8 chairs in another row.
are not sharp. chairs altogether.

40 children. I Joe has read 37 pages of his book.
12 adults. He reads 6 more.
people altogether. | He has read pages.
75 litres in a bath. | 64 pears on a tree.
25 litres is cold water. 8 are picked.

litres is hot water. | pears left on the tree.
|




chchchch

Here are 13 counters.
Colour 10 red.
Colour the rest blue.
Fill in the boxes.

CNONONONONONG®.

o Here are 16 counters.
Colour 10 red.
Colour the rest blue.
Fill in the boxes.

ONONONONONONONC)

O ONONONONONONG) OO0OO0O0O0O0
10 |+ = 16 + =
red blue red blue

e Fill in the boxes.
2+10=| 12 +10=16 3+10=
7+10= +10=12 6+ 10 =
4+10= +10=15 1+10=
0+10= +10=19 8+10=
9+10= +10 =11 5+10=
Fill in the boxes.
24 +10=| 34 42 +10 = 65+ 10 =
58 + 10 = 79 +10 = 37+ 10 =
63 + 10 = 51 +10 = 43 +10 =
87 +10 = 26 +10 = 59 + 10 =
35+10 = 84 +10 = 72 +10 =




spaIq
‘as29b g
"suay sz |

)3 ale

‘pasn ase g/
"X0Q B Ul SMeJ}S 00 | |
|

‘y3| sbeq ea1

‘pasn ale g
‘sbeq ea) 0§

___.___+__________

1ay3aboyje syooq

‘Jjays doy ay3 uo syooq /|
“JI2Ys Wwonoq 3y} uo sy0o0q 0§

‘19y32b03 e s1omoy)

9SEA Jayjoue Ul SIsMo|} /

"3SEA 2UO Ul SI9MOY} 6 |

‘usyoiqun ale

"ux0Iq e €
“19yoed e uj sundsiq 07 |
I

‘lood ay3 ui 3jdoad

‘ul 190 asow ¢
‘lood e uj 3idoad o |

‘99J43 e Ul spaiq

‘Keme £}} 9
"99J3 e Ul spaIq |

o

\\‘ \D

Y3| ysy .~ g 7 ) NG EEyRle 7

'sba)

"|001s 3UQ
. Jleyd auQ

13| sayed "udlea Ale ¢
‘sed §

'saxoq Y3 ul |ji4




=0¥L — 00¢C

=0L—~0LL

=0¢l — 081

=06 — 00¢

=0ZL — 091

=0S —0¢tl

=09 — 051

=09+ 011

=08 +0s

=05l + OF

= 0¥ + 06

=6 —8l

=¥ -0

=it =L

=851

I
o
—

|
o
~

=S+

=7+9

=/+€

6 |=v+6§

'sax0q 3y} Ul |14




=08 — 051
=05 — 091
= 0€L — 00¢

=0F = 0tl

=0S - 06l
=08 — 0¥l
=09 — 00¢

=04 - 021

=0 + 06
= 0§ +09
= 0¥ + 0¢€lL

=06 + 0§

=09 + 04
=08 + 0¢Cl
=0/ + 06

=05 + 08

= LL=91

=§—=0¢

=6—1Cl

=glL—=0l

=L—-Vl

=Zl—-0¢

=8—-91

=9 —-¢tl

=8+§

=6+

=9 %¥ ¥l

=€+8

=5+6

=¢Lt¥

=/+ 1l

=8+9

=6 = 0l

=v+9

=L+¢

=0+0lL

=T+S§

=9+¢

=7+8

=9+1

=€+¥

"$9X0q Y3 Ul |14




Fill in the boxes.

3+2=

5+4=

0+8=

7+1=

4+2=

8+5=

13+47=

9+6=

5+12=

7+4=

27 +6 =

59 +7=

83+ 8=

65+ 7=

76 +9 =

6+4=

1+8=

0+7=

5+2=

3+5=

12+ 6=

6+7=

8+11=

14+3=

9+9=

49 + 9 =

84 +7 =

37+ 8=

26 + 5=

68 + 8 =

7+3=

2+4=

5+5=

4+3=

9+1=

3+9=

7+8=

6+ 14 =

9+7=

11+ 8=

87 + 4 =

56 + 8 =

42+9=

28+ 3=

34+ 9=

3+7=

6 +3=

2+6=

1+4=

8+2=

15+ 3=
4+13=
7+5=
8+9=

6+ 8=

78+ 7 =

53+9 =

45+ 8 =

89 +5=

67 +7 =




Fill in the boxes.

8+5=

13

7+9=

6+7=

7+3=

16 +9 =
15+7=
13+8=

19+ 4 =

e o
]
L]
[ ]
®
®
8+8= 5+9=
7+4= 6+6=
6+5= 4+8=
8+7= 9+6=
18+ 6= 15+9=
14+ 8 = 19 + 8=
17+7= 17+ 5=
16+ 5= 18+ 3=

5+7=

9+9=

8+6=

9+8=

17 + 8 =
16 +7 =
18 +9 =

19+ 6=
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Fill in the boxes.

[ AJ
6add 2 = 1 and 8 make [: 2 and 8 together
3add 3 = ,: 4 and 3 make 7 and 0 together :
Sadd 4 = ] 8 and 1 make]: 4 and 5 together :
7 add 3 = j 3 and 5 make 1 and 6 together ]
2add 4 = 6 and 4 makez S5and 5 togetherI:
0
What is 6 and 8 altogether? 8 more than 3| |
The total of 13 and 3 is :] 4 more than 15
9 and 9 equals [:j 10 more than 6 L
Altogether 5 and 6 make :] 3 more than 14
What is 7 add 3? ': 12 more than 8
11 and 4 have a total of E 5 more than 13 [:
[/
5,7and 9 makeE 8 plus 13
The sum of 24 and 7 is [: 25 plus 10

19 is 6 greater than D

The total of 17, 5 and 10 is l:]
Add 20,30and 40.[
20 more than 15 is ’:

Tapluso[
40 plus 60 :]

11 plus 11

8 plus 16




Fill in the boxes.

° 33 X
>0

4 red apples. 3 green apples.

FeAATA FAAK

Ben has 5 stars.

6 blue crayons.

He wins 4 more.

2 yellow crayons.

apples altogether.

crayons altogether.

6 boys.

7 girls.

children. |

10 books in one pile.

8 books in another pile.

books altogether.

__________+_________

Gina has 15p.
Cassie has 5p.

They have altogether.

4 glasses of orange.
9 glasses of cola.

drinks altogether.

40 brown cows.

30 black and white cows.

cows altogether.

- ss=cea=aS§
Ravi weighs 25kg.

Dan weighs 7kg more.

Dan weighs kg. |

20 people downstairs on the bus..

14 people upstairs on the bus.

people on the bus.

50 story books.
35 topic books.

books altogether.
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Fill in the boxes.

A
Add 4 to 4 3add 7 6 and 3 make
Add 6 to 1 1 add 4 1 and 9 make
Add 2 to 3 7 add 2 5 and 3 make
Add 5to 0 2add 5 10 and 0 make
Add 8 to 2 4 add 6 3 and 4 make
o
7 and 9 is altogether. 9 and 5 equals
The sum of 4 and 8 is ) 6 and 14 equals
How many is 12 and 6 altogether? 15 and 2 equals
5 added to 15 makes , 11 and 9 equals
The total of 14 and 0 is : 8 and 8 equals
is 3 more than 12 13 and 6 equals

added to 12 equals 20. k l “ - add 5is 14

7is more than 11. 17 add is 20
and 9 have a sum of 15. add 8is 17
The total of 10 and is 50. 70 add is 100
plus 0 equals 12. add 5is 13
Altogether and 6 makes 19 add12is 16




Fill in the boxes.

roweas DRI DRI O] PCX]

4 are eaten sweets left.
6 balloons

2 burst balloons left.
Nita has 8p

She spends 5p she has p left.

12 eggs in a box. | 15m of rope.
5 are eaten. 10m cut off.
eggs left. l m left.
e e e e e ey + e . e e
17 people on a bus. | 20 slices of bread.
8 get off. 16 slices used.
people on the bus. | slices left.
l
[ CJ
|
Micky has £1. | 75 cars in a car park.
Tony has 40p less. 20 leave.
Tony has p. | cars left.
e e e e e, — = + s e o e g A s
23 adults. | 32 chocolates in a box.
8 are men. 5 chocolates are eaten.
are women. | chocolates left.




Fill in the boxes.

10 -6 =

7-2=

5-4=

9-7=

15-6=

13-8=

19-7=

11 -4 =

17 -9 =

23-7=

80 -2=

46 — 9 =

51-6=

35-8=

20-13 =

16 — 8 =

14-9=

18 -5=

12-6=

67 — 8 =

94 — 6 =

50-5-=

39-0=

82 —-6=

10— 4=

19=15=

11 -9=

17 -6 =

==

13-4=

58 -9 =

25 -7 =

43-6=

30-3=

71 -8 =

10-5=

96 — 7 =
2-5=
57-9=
64 — 8 =

100 — 6 =




Fill in the boxes.

(A]
2+| 6 |=8 10 |[-5=
6+ |=10 —6=0
4+ =7 - 7=2
3+ J-0  ]-s5-=3
4+ -6 ~1=9
(B
8 + - 14  J-e=13
6+ ]=1s ~5=9
1+ - 20 —7=13
7% =15 E‘6=6
3+ |=12 [ ]-13=5
LCJ
17+:=25 — 60 = 40
6+ = 34  |-ss=7
so+|  |=s80 ~7=76
57 + =67 | |-10=40
30 + =100 —6=138




Fill in the boxes.

5+ 2

2+

1+

3+

4+

8 +

S5+

14 +

7+

9 +

26 +

40 +

78 +

16 +

16

17

20

11

1

60

24

-6=3
~9=1
~-5=1
~4=4
~1=6
~5=11
-8=4
-17=3
-9-=8
-6=7
— 40 = 40
~-83=8
-28=6
~50 =50

18 —

14 =

1=

14 —

20 —

63 -

100 —

78 —

90 —~

52 —




